Applications of LCM

Concept Lecture - 3




Four bells ring at intervals of XQ_B and 14

QWX7= lég seconds. They start ringing simultaneously at
6R 12:00 O’ clock. At what time will they again

ring simultaneously?
= min19 s, TR SRt 4,6,8 FUT 14 VHTH F IHeawrd
waa?h%|é1z I TH WY Tl
HRFH FIA 5, af O frast oo
qY Fd?
12 hrs 2 min 48 sec b) 12 hrs 3 min
c) 12 hrs 3 min 20sec d) 12 hrs 3 min 44 sec
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There are three alarms. The first one rings once in
every 20 sec. The second one rings twice in 3
minutes at regular intervals, whereas the third one
rings thrice in 2 minutes at regular intervals. How
many times do they ring together in 1 hour if they
all rang simultaneously in the starting of the hour?
dieT e § | ggem & 20 AF3H H TH aR
qordT 8 | quU fAafda saue @ & 3 e
H 2 TR daa1 ¢ | sefF fww @afag
NI T W2 AAc #3 aR aaar & | 9
& g¢ & R fFadl IR vF |1y qold 3R
q g $Y YIATT # FHed ot 4?7

a)6 b) 8 c)10 11
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‘% Three men step off together fro;\n the game
spot. There steps measure 63-cm cm
7QX/0X// = 69%0 tmand ,Z'?Llc'm respectively. The minimum
distance each should cover so that all can
cover the distance in complete steps is
e afFd o & g @ v @ T
ARFH FQ §, 3AF FGAl N dFaTS
FHA: 63 WoHlo, 70 Todlo TuT 77
JoHlo T | ¥AF A FH ¥ FH fFdar
&l a@ &G g3t arfe gff wed fAv
R Tt F a7 @ e
a) 9630 cm b) 9360 cm
/6930 cm d) 6950 cm
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A boy bought a box of chocolates to distribute to his
56:('0 friends on his birthday. He can exactly distribute the
chocolates to ior to 6 or to 9 of his friends equally.
If the cost of the box is Rs.500 and the average
cost per chocolate lies between Rs.2.50 and
Rs. 3, how many chocolates are there in the box?
TH dSh o Ul SAeAfGeT U GIEl HY diest &
2 RT aftet =1 e @ler | 9§ 3 afeat #
3 <& 4,631 9 AT FN AW T F aic GHAT |
5@,,,_ I TAF T FT AT T 2.50 F 3
7‘“&‘") ¥ & g § 3 Bed &1 F7 77 500 ¥ ¥ |
ar Bed & fraet arftear &2
a) 144 b) 160 \,2(180 d) 216
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There are three lights Red, Green and Orange. Red
and Green lights flash together once in every 200
sec, whereas Green and Orange lights flash together
once in every 240 sec. If all the three lights flash
together at§9a_m—2 At what time will they flash
together again?

arer, g 3 §ah @ fr A afowr & | aer
iR & IR & 200 AFFH H THF AR FFES
THSd! § | Jadhr gl 3 Y afer &w 240

AHsT H TFH I FHo! THHd § | 3R A=t
afaal gag 9 a9 sFFS Gwehr A @ I« A
fFdar S sFHS THFA?
a) 9:06 am b)9:10 am

c)9:12 am \,d')/9:20 am
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The strength of a class is 20. One day, the teacher brought some
chocolates to distribute to the students of the class. Ten students were
absent on that day and hence the teacher was left with 2 chocolates after
distributing the chocolates equally to the available students. The next day
he again brought the same number of chocolates but only 2 students were
absent and hence the teacher was left with 10 chocolates after
distributing the chocolates equally to the available students. The total
number of chocolates that the teacher brought on both the days together
lies between 700 and 800. If each student got ‘x’ chocolates on the first
day and ‘y’ chocolates on the second day, find x - y?

felt wam & 20 o 7| P ReT sreams oE # aew & Qv 7o
diFde aR| 39 BT 10 o9 aqaiya & safaw @it e # W
Ulhdlc dicd & ¢ 2 dihde NEAUF & I a9 TS| 9o T sy
HEAYF 3+ & didhde aF W 37 T 2 o Iauieyd & safav
BEl # GA didde died & 916 396 I 10 didhde ad 7§ Q=
et 1 Fo diwaec F FEAT 700 IR 800 F @ P IR A R
YAF ST F ¥ diwde IR W e v_@AF o= F Yy AiEec

e & ar x — y, aar F
a)16 \_bﬁZ c)19
d) 35 e) cannot be determined
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The circumference of the front and the rear wheels of
a cart are 3m and 2.4 m. Two spots one on each
wheel are marked where the wheel touches the
ground. If the cart is moving with a uniform speed,
both the spots simultaneously touches the ground
again after 3 sec, what is the speed of the cart?

fFdl TR & erar gur Road gfgad &1 aRkfe
FHA: 3m G 2.4m ¢ | At gfgal 9T ar foverer §
St 3reft offr @ T FW W@ F | IR &S WA
I § T @ F W 3 qFs F 916 UF WY H{A
1 Tq¥ HLIT | ar gsr i afa Fan |

a) 12 kmph \b{14. 4 kmph

c) 12 m/sec d) 120 kmph
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A bicycle is made such that the radius of the front tyre is
25% less than that of the back tyre. There is a yellow
spot on each tyre. Now the spots are exactly touching the
R 1eT ;,us'/ ground. If .the bicycle runs a distance of 3. 16g;) both
Y 3 the spots simultaneously touches the ground again. What
Civ. Yx - @ is the radius of the front tyre?
2203 TF FEfHRA & era afed fr Ao Row afed A
2|g Bsar & 25% ®# § | g gfeal W der e §,
X ey 5 B 3w 0 B Tt W @ § | Rl &
3.168 m aaﬁwa‘l?l’rﬁren:raqﬁas‘rﬁw#w
= J26=y gy wer F | e ORA A Brewr w11 §2
a)79.2 cm b) 105.6 cm
c)25.2cm 12.6 cm

126 m
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Four runners started running simultaneously
from point on a circular track. They took
ggyi seconds, Sngseconds,@’seconds and
=__§ﬂ seconds to complete one round. After how
many seconds do they meet at the starting point
for the first time?
IR yEs Rl AR gy W R fag @
alselT IRFH FId § | 0F dFa U A A
d FAA: 200 [&H3A, 300 WF3H, 360
AFSH dUT 450 IHIF A 8, af T fraar
T F 491G IRAF &g w BT @ A
1800 b) 3600
c) 2400 d) 4800
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From a point on a circular track 5 km long A,
B and C started running in the same

. . . 1
direction at the same time with speed of 2 5

km per hour, 3 km per hour and 2 km per’
hour respectively. Then on the starting point
all the three will meet again after

5 fhoFlo 1 gl aTl THF FAFR TT W
A, B dYUT C T&h & TIT & TF & fean
A, tH @ FHT HFAA: 21/2 kmph, 3
kmph d4T 2 kmph & afd & clsar
IRFH X ¢, a IRAF g w 3
ge: fordell aT arg fAeir?

a) 30 hours b) 6 hours

\y)/10 hours d) 15 hours
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Q /_7»: The number of common terms in the two sequences
3] w '___qo/17@25,...,417 and 16(21)26, ... , 466 is:
T, / ,]\ 17,21,25,. 417>?’k 16,21,26,... ,466 A fhdsit

mwm%?
78 b) 19 0 d) 77 d) 22
o @A, O \q‘m\,,/ g |

l 5 24~ = ">
<7’@ﬂ WD
o 16,@, 9%, 8, 3’\@)

0 \\14-'07Z
7

| (CAT 2008) | 12



Two cog wheels have 16 and 24 teeth respectively.
ug The bigger wheel makes 5 revolutions per hour.
%(er"’d Calculate how many times the specific teeth of
bigger wheel meets with the specific teeth of
smaller wheel in 11 hours.
HAA: 16 3T 24 gidl arel & qdeR IRT
g3T 9fgar 9fY & 5 IFHT AT &1 AUET B
fF a3 oY F RARST gid 11 9 & frgen
TR oI¢ Ity & fafdse ziat ¥ Fad §
a) 22 b) 27 28 d) 23

NYR 13
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